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Q.1 Choose the correct option for the following 03
(i) 1dmisequalto:

(ii)

(a) 100 cm (b) 10cm (c) 0.1cm (d) 10 meter.
Which of the following compound is used as an excellent humectants ?

(a) Nitroglycerine (b) Ethylene glycol (c) Glycerol (d) Picric acid.

(ili) Which of the following compound does not give lodoform test ?
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(a) Ethanol (b) 2-propanol (c) Tert.-butyl alcohol (d) Acetophenone.
ANSWER THE FOLLOWING (ANY TWO) ' 04
Staggered conformation of ethane is more stable than eclipsed conformation.
Williamson ether synthesis is not effective with Tert.-butyl chloride.

Phosphorus ylides are used in Wittig reaction.

ANSWER THE FOLLOWING 06

Synthesis of chiral compound from achiral reactants always give racemic
modification.

95 % methyl cyclohexane exist in the conformation with methyl group in the
equatorial position.

OR
ANSWER THE FOLLOWING 06
Racemic mixture is resolvable but meso compound is not resolvable.

Arrange the relative stability order of following conformations of cyclohexane and
explain your answer.

(a) Boat (b)  Twist-boat (c) Chair.
ANSWER THE FOLLOWING 06
Arrange the relative acidity order of following molecule and explain your answer.

(a) Alcohol (b) Water (c) Ammonia.

Give the synthesis of glycerol from propene via halohydrin formation. (P.T.O.)
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OR

ANSWER THE FOLLOWING
Give the synthesis of 3-methyl-2-pentanol from ethanol by Grignard synthetic route.
Complete the following reaction and give appropriate detail stepwise mechanism.

2,3-dimethyl-2,3-butanediol + H* — ?
ANSWER THE FOLLOWING 06
Aromatic amines are weaker base than aliphatic amines.
Give stepwise reaction mechanism of acetal formation.

OR

ANSWER THE FOLLOWING 06

Give the synthesis of 2-ethyl-1-hexanol from acetaldehyde by using aldol
condensation route.

Discuss the action of nitrous acid on various aliphatic and aromatic amines.

THE END

There is no short cut, except hard work with understanding to excel in
examination.



